## **BID RESULTS**

## AB2023-14B REBID OF RIPARIAN ZONE MITIGATION CREDITS IN WATERSHED MANAGEMENT AREA #11 FOR THE TRENTON-MERCER AIRPORT

BID OPENING DATE: JUNE 27,2023								
NUMBER OF BIDDERS	1							
NAME	EVERGREEN ENVIRONMENTAL LLC							
ADDRESS	425 DARBY PAOLI ROAD							
CITY, STATE, ZIP	WAYNE, PA 19087							
CONTACT	JAMES R. HOLT							
TELEPHONE	610.687.4458							
FAX	610.687.9433							
E-MAIL	JHOLT@EVERGREENENV.COM							
nj savi designation	N/A							
ADDENDUM NO.ONE	INCLUDED							
STATEMENT OF OWNERSHIP	SIGNED AND DATED							
INSURANCE AND INDEMINICATION	SIGNED AND DATED							
RUSSIAN/IRAN CERT	SIGNED AND DATED							
NJ BUSINESS REGISTRATION CERT	OK							
EEO/ AFFIRMATIVE ACTION	INCLUDED							
EIC	REQUIRED IF AWARDED							
CONTINUITY OF OPERATION	YES							
HOLD BEYOND 60 DAYS	NO							
EXHIBIT A	INCLUDED							
COST PER CREDIT	\$ 796,957.00							
COST FOR 4.5 ACRES OF MITIGATION	\$ 3,586,306.50							
CREDITS	<u> </u>							
BUY AMERICAN FORM	SIGNED AND DATED							
REFERENCES	INCLUDED, ENGINEER TO REVIEW							

NONE

**EXCEPTIONS** 

	BID RESULTS								
AB2023-22 SHUTTLE SERVICE AT THE TRENTON-MERCER AIRPORT 1100 TERMINAL CIRCLE DRIVE, WEST TRENTON, NJ. 08628  BID OPENING DATE: JUNE 27,2023									
								NUMBER OF BIDDERS: 2	
NAME OF RESPONDENT	THE ARC OF MERCER	STOUTS II							
ADDRESS	180 EWINGVILLE RD.	20 IRVEN STREET							
CITY, STATE, ZIP	EWING NJ. 08638	TRENTON NJ. 08638							
CONTACT	STEVE COOK	TIM STOUT							
TELEPHONE	609-406-0181	609-883-8891							
FAX	609-406-9253	609-883-6682							
E-MAIL	SCOOK@ARCMERCER.ORG	TSTOUT@STOUTSINC.COM							
NJ SAVI DESIGNATION	N/A	N/A							
INSURANCE AND INDEMNIFICATION REQUIREMENTS	SIGNED AND DATED	SIGNED AND DATED							
RUSSIA BELARUS/IRAN CERTIFICATION	REQUIRED IF AWARDED	SIGNED AND DATED							
NEW JERSEY BUSINESS REGISTRATION	OK	OK							
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED							
EEO FORM	SIGNED AND DATED	SIGNED AND DATED							
EXECUTIVE ORDER 98-1	SIGNED AND DATED	SIGNED AND DATED							
EMPLOYEE INFORMATION CERTIFICATE	INCLUDED	REQUIRED IF AWARDED							
REFERENCES	TO BE REVIEWED BY AGENCY	TO BE REVIEWED BY AGENCY							
HOLD FOR 60 DAYS	YES	YES							
CONTINUITY OF SERVICES	YES	YES							
EXCEPTIONS	NONE	NONE							
COST PER HOUR	\$ 73.94	\$ 145.00							

## **BID RESULTS**

AB2023-25 PHYSICAL THERAPIST SERVICES FOR THE MERCER COUNTY CORRECTIONAL FACILITY FOR A PERIOD OF TWO (2) YEARS WITH THE OPTION TO EXTEND ONE (1) YEAR BASED UPON THE INDEX RATE LOCATED AT 1750 RIVER ROAD LAMBERTVILLE, NEW JERSEY

BID OPENING DATE: JUNE 28,2023									
NUMBER OF BIDDERS:	NUMBER OF BIDDERS: 2								
NAME OF RESPONDENT	T & H ENTERPRISES X LLC.	PRIORITY GROUP SERVICE LLC.							
ADDRESS	PO BOX 115	4989 STELTON RD.							
CITY, STATE, ZIP	ABINGTON PA, 19001-0115	SOUTH PLAINFIEDL, NJ. 07080							
CONTACT	JOHN HIBBERD	EZEKIEL SEGUN OLANIYI							
TELEPHONE	703-475-2964	347-985-3863							
FAX	215-827-5868	212-898-0458							
E-MAIL	JACK@THENENTERPRISESX.COM	<u>SEGUN2PRIORITYGROUPS.ORG</u>							
NJ SAVI DESIGNATION	N/A	SMALL BUSINESS ENTERPRISE							
ADDENDUM NO 1.	INCLUDED	INCLUDED							
INSURANCE AND INDEMNIFICATION REQUIREMENTS	SIGNED AND DATED	SIGNED AND DATED							
RUSSIA BELARUS/IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED							
NEW JERSEY BUSINESS REGISTRATION	OK	OK							
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED							
EEO FORM	SIGNED AND DATED	SIGNED AND DATED							
EXECUTIVE ORDER 98-1	SIGNED AND DATED	SIGNED AND DATED							
PHYSICAL THERAPIST LICENSE	INCLUDED	NOT INCLUDED							
THERAPIST LICENSES	JOHN ALEX, LICENSE # 40A01276600 EXP. 1.31.24 & PUJA JAIRATH LICENSE # 40QA01470600 EXP. 1.31.2024	NOT INCLUDED							
EMPLOYEE INFORMATION CERTIFICATE	REQUIRED IF AWARDED	REQUIRED IF AWARDED							
REFERENCES	TO BE REVIEWED BY THE AGENCY	TO BE REVIEWED BY THE AGENCY							
HOLD FOR 60 DAYS	YES	YES							
CONTINUITY OF SERVICES	YES	YES							
EXCEPTIONS	NONE	NONE							

AB2023-25 PROPOSAL PAGE PHYSICAL THERAPIST SERVICES FOR THE MERCER COUNTY CORRECTIONAL FACILITY FOR A PERIOD OF TWO
(2) YEARS WITH THE OPTION TO EXTEND ONE (1) YEAR BASED UPON THE INDEX RATE LOCATED AT 1750 RIVER ROAD LAMBERTVILLE, NEW
JERSEY

ANNUAL COST YEAR ONE	QTY	F	PRIORITY GROUPS	Т&	H ENTERPRISES LLC.
COST FOR INTIAL EVALUTION	1	\$	634.38	\$	75.00
ESTIMATED NUMBER OF EVALUTIONS (40)					
COST FOR FOURTY EVALUTIONS	40	\$	25,375.20	\$	3,000.00
Cost for follow-up as ordered by physician	1	\$	580.00	\$	65.00
ESTIMATED NUMBER OF FOLLOW-UPS (650)					
COST FOR SIX-HUNDRED AND FIFTIY TREATMENT APPOINTMENTS	650	\$	377,000.00	\$	42,250.00
GRAND TOTAL FOR ESTIMATED EVALUTIONS AND FOLLOW UPS		\$	402,375.20	\$	45,250.00
ANNUAL COST YEAR TWO	QTY	F	PRIORITY GROUPS	T8	H ENTERPRISES LLC.
COST FOR INTIAL EVALUTION	1	\$	634.38	\$	76.00
ESTIMATED NUMBER OF EVALUTIONS (40)					
COST FOR FOURTY EVALUTIONS	40	\$	25,375.20	\$	3,040.00
COST FOR FOLLOW-UP AS ORDERED BY PHYSICIAN	1	\$	580.00	\$	66.00
ESTIMATED NUMBER OF FOLLOW-UPS (650)					
COST FOR SIX-HUNDRED AND FIFTIY TREATMENT APPOINTMENTS	650	\$	377,000.00	\$	42,900.00
GRAND TOTAL FOR ESTIMATED EVALUTIONS AND FOLLOW UPS		\$	402,375.20	\$	45,940.00
GRAND TOTAL TOK ESTIMATED EVALUTIONS AND TOLLOW UTS		Ψ	· · · · · · · · · · · · · · · · · · ·		

		BID RESULTS							
CK09MERCER2023-08	B HVAC PREVENTATIVE MAINTENANCE AND REP	AIR FOR THE MERCER COUNTY LIBRARY SYSTEM	FOR A PERIOD OF TWO (2) YEARS						
BID OPENING DATE: JUNE 29, 2023									
NO. OF BIDDERS		3							
NAME OF BIDDER	MCCLOSKEY MECHANICAL CONTRACTORS INC.	BINSKY & SNYDER LLC.	AIR SYSTEMS MAINTENANCE INC.						
ADDRESS	445 LOWER LANDING ROAD	281 CENTENNIAL AVENUE	718 JEFFERSON AVENUE						
CITY, STATE, ZIP	BLACKWOOD, NJ. 08012	PISCATAWAY, NJ. 08854	KENILWORTH NJ. 07033						
CONTACT	ROBERT L. REEVES	RALPH A. VECCHIO	THOMAS CROZIER						
TELEPHONE	856-784-5080	732-369-0100	908-241-1555						
FAX	856-784-8283	732-885-1876	908-241-8111						
E-MAIL	ROB@MCCLOSKEYMECHANICAL.COM	RVECCHIO@BINSKY.COM	TOM@AIRSYSTEMSMAINTENANCE.COM						
nj savi designation	N/A	N/A	N/A						
INSURANCE INDEMNIFICATION PAGE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
NJ BUSINESS REGISTRATION	OK	OK	OK						
EEO AFFIRMATIVE ACTION FORM	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
EIC	INCLUDED	INCLUDED	INCLUDED						
EXECUTIVE ORDER 98-1	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
RUSSIA IRAN CERTIFICATION	REQUIRED IF AWARDED	SIGNED AND DATED	REQUIRED IF AWARDED						
PLUMBING AND GAS FITTING AND ALL KINDRED WORK	IN-HOUSE LIC. 36BI000758200	IN-HOUSE LIC. 36100944000	NOT INCLUDED						
ELECTRICAL WORK, INCLUDING ANY ELECTRICAL POWER PLANTS, TELE-DATA	ALL SYSTEMS ELECTRIC & MAINTENANCE INC., LIC. 34EI01027000, PW. EXP. 2.9.25, 693146 (UPDATED COPY NEEDED) BRC. OK	IN HOUSE LIC. 34EI01182500	NOT INCLUDED						
PREVAILING WAGE	INCLUDED	INCLUDED	INCLUDED						
PW CERTIFICATE	EXP. 02.23.24, 616623	EXP. 4.10.24, 69466	EXP. 7.25.24, 649665						
HOLD PRICING BEYOND 60 DAYS	NOT INCLUDED	YES	YES						
SAFETY CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
EQUIPMENT CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
EXTEND TO CO-OP	YES	YES	YES						
NUMBER OF EMPLOYEES	REQUIRED IF AWARDED	525	44						
NUMBER OF YEARS IN BUSINESS	REQUIRED IF AWARDED	85	39						
REFERENCES	TO BE REVIEWED BY THE AGENCY	TO BE REVIEWED BY THE AGENCY	TO BE REVIEWED BY THE AGENCY						
EMERGENCY SERVICE	YES	YES	YES						
EXCEPTIONS	NONE	NONE	NONE						
ALL INCLUSIVE HOURLY RATE 8:30	-	-	-						
AM TO 4:30 PM	\$ 98.40	\$ 135.00	\$ 140.00						
TOTAL (MULITPLY 1000 X HOURLY									
RATE	\$ 98,400.00								
GRAND TOTAL	\$ 98,400.00	\$ 135,000.00	\$ 140,000.00						

		AB2023-27 PI	ODDOSAL DAG	GE.			CMS CONSTRUCTION COLONNELLI BROTHERS, INC. EARLE ASPHALT			MARRO INC. MIDIANTIC CONSTRUCTION I.C. CRS CONTRACTORS INC.				CTOPS INC				
IT	STANDARD	D	UNIT	PLAN	IF&	CONTRACT	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
E M	ITEM NO.	E	MEASU RF	QUANTI	WHERE	QUANTITY	COST	COST	COST	COST	COST	COST	COST	COST	COST	COST	COST	COST
1	154003P	MOBILIZATION	LS	1		1	\$ 35,000.00	\$35,000.00	\$ 85,000.00	\$ 85,000.00	\$ 178,313.07	\$ 178,313.07	\$ 176,999.97	\$ 176,999.97	\$ 250,000.00	\$ 250,000.00	\$ 65,000.00	\$ 65,000.00
2	158009M	HEAVY DUTY SILT FENCE, ORANGE	LF	555	51	606	\$ 7.00	\$ 4,242.00	\$ 6.00	\$ 3,636.00	\$ 10.00	\$ 6,060.00	\$ 10.00	\$ 6,060.00	\$ 10.00	\$ 6,060.00	\$ 17.00	\$ 10,302.00
3	158030M	INLET FILTER TYPE 2, 2' X 4'	UNIT	4		4	\$ 150.00	\$ 600.00	\$ 250.00	\$ 1,000.00	\$ 200.00	\$ 800.00	\$ 1.00	\$ 4.00	\$ 50.00	\$ 200.00	\$ 150.00	\$ 600.00
4	158042M	FLOATING TURBIDITY	LF	35	13	48	\$ 50.00	\$ 2,400.00	\$ 45.00	\$ 2,160.00	\$ 25.00	S 1.200.00	\$ 35.00	\$ 1,680.00	\$ 10.00	\$ 480.00	\$ 39.23	\$ 1,883.04
5	158063P	BARRIER, TYPE 1 CONCRETE WASHOUT	LS	1		1	\$ 1,500,00	\$ 1.500.00			\$ 500.00							
6	159141M	SYSTEM TRAFFIC DIRECTOR,	HOUR		16	16	, -,,,,,,,,,,	. ,	\$ 3,000.00	\$ 3,000.00	\$ 105.00	\$ 500.00	\$ 2,500.00	\$ 2,500.00	\$ 6,000.00	\$ 6,000.00	\$ 1,000.00	\$ 1,000.00
		FLA GGER					,	\$ 16.00	\$ 100.00	\$ 1,600.00		\$ 1,680.00	\$ 1.00	\$ 16.00	\$ 100.00	\$ 1,600.00	\$ 80.78	\$ 1,292.48
7	159450M	POLICE SERVICE CHARGE	DOLLAR		10,000	10,000	\$ 1.00		\$ 1.00	\$10,000.00	\$ 1.00	\$ 10,000.00	\$ 1.00	\$ 10,000.00	\$ 1.00	\$ 10,000.00	\$ 1.00	\$ 10,000.00
8	160004M 160007M	FUEL PRICE ADJUSTMENT ASPHALT PRICE	DOLLAR DOLLAR		2,000	2,000	\$ 1.00 \$ 1.00	\$ 2,000.00	\$ 1.00 \$ 1.00	\$ 2,000.00	\$ 1.00 \$ 1.00	\$ 2,000.00	\$ 1.00	\$ 2,000.00	\$ 1.00	\$ 2,000.00	\$ 1.00	\$ 2,000.00
	200007181	ADJUSTMENT	DOLLAR		2,000		\$ 1.00	\$ 2,000.00	\$ 1.00	\$ 2,000.00		\$ 2,000.00	\$ 1.00	\$ 2,000.00	\$ 1.00	\$ 2,000.00	\$ 1.00	\$ 2,000.00
10	201003P	CLEARING SITE (ROADWAY)	LS	1		1	\$ 25,000.00	\$25,000.00	\$ 50,000.00	\$ 50,000.00	\$ 20,000.00	\$ 20,000.00	\$ 25,000.00	\$ 25,000.00	\$ 350,000.00	\$ 350,000.00	\$ 25,000.00	\$ 25,000.00
11	202009P	EXCAVATION,	CY	495	50	545	\$ 65.00	\$35,425.00	\$ 50.00	\$ 27,250.00	\$ 200.00	\$ 109,000.00	\$ 75.00	\$ 40,875.00	\$ 50.00	\$ 27,250.00	\$ 130.00	\$ 70,850.00
12	202015P	UNCLASSIFIED  EXCAVATION, REGULATED	CY		50	50	\$ 85.00	\$ 4.250.00			\$ 60.00							
13	202018P	MATERIAL EXCAVATION, ACID	CV.		20	20	\$ 120.00	\$ 2,400,00	\$ 35.00	\$ 1,750.00	\$ 60.00	\$ 3,000.00	\$ 30.00	\$ 1,500.00	\$ 50.00	\$ 2,500.00	\$ 70.00	\$ 3,500.00
	101010	PRODUCING SOIL	C.					+ 2,	\$ 45.00	\$ 900.00		\$ 1,200.00	\$ 30.00	\$ 600.00	\$ 50.00	\$ 1,000.00	\$ 100.00	\$ 2,000.00
14	202024M	DISPOSAL OF REGULATED MATERIAL	TON		50	50	\$ 65.00	\$ 3,250.00	\$ 45.00	\$ 2,250.00	\$ 50.00	\$ 2,500.00	\$ 50.00	\$ 2,500.00	\$ 100.00	\$ 5,000.00	\$ 34.00	\$ 1,700.00
15	202033M	SOIL SAMPLING AND ANALYSES, ACID	UNIT		2	2	\$ 1,200.00	\$ 2,400.00			\$ 1,500.00							
		PRODUCING SOIL					, , , , , , , , ,	\$ 2,400.00	\$ 1,500.00	\$ 3,000.00		\$ 3,000.00	\$ 1,000.00	\$ 2,000.00	\$ 1,000.00	\$ 2,000.00	\$ 1,900.00	\$ 3,800.00
16	202039M	DISPOSAL OF ACID PRODUCING SOIL	TON	_	20	20	\$ 120.00	\$ 2,400.00	\$ 45.00	\$ 900.00	\$ 50.00	\$ 1,000.00	\$ 55.00	\$ 1,100.00	\$ 100.00	\$ 2,000.00	\$ 215.00	\$ 4,300.00
17	202099	SOIL TESTING PL 2012 C-73	DOLLAR		2,500	2,500		"		\$ 2,500.00	\$ 1.00	\$ 2,500.00	\$ 1.00	\$ 2,500.00	\$ 1.00	\$ 2,500.00	\$ 1.00	\$ 2,500.00
18	302042P	DENSE-GRADED AGGREGATE BASE	SY	205	45	250	\$ 12.00	\$ 3,000.00						·				· · ·
		COLURSE 8" THICK							\$ 15.00	\$ 3,750.00	\$ 20.00	\$ 5,000.00	\$ 40.00	\$ 10,000.00	\$ 20.00	\$ 5,000.00	\$ 30.00	\$ 7,500.00
19	401009P	HMA MILLING, 3" OR LESS	SY	503	37	540	\$ 45.00	\$24,300.00	\$ 25.00	\$ 13,500.00	\$ 12.00	\$ 6,480.00	\$ 12.00	\$ 6,480.00	\$ 10.00	\$ 5,400.00	\$ 90.00	\$ 48,600.00
20	401030M	TACK COAT	GAL	108	-	108	\$ 25.00 \$ 25.00	\$ 2,700.00	\$ 2.00 \$ 2.00	\$ 216.00	\$ 0.01	\$ 1.08	\$ 12.00 \$ 0.01	\$ 1,296.00	\$ 10.00 \$ 10.00	\$ 1,080.00 \$ 1,030.00	\$ 13.00 \$ 13.00	\$ 1,404.00 \$ 1.339.00
21	401036M 401042M	PRIME COAT HOT MIX ASPHALT 9.5 M 64	TON	103 87	9	103 96	\$ 25.00	\$ 2,575.00 \$25,440.00	2.00	\$ 206.00	\$ 0.01	\$ 1.03	0.01 د	\$ 1.03	J 10.00	J 1,030.00	15.00 پ	1,339.00 ب
		SURFACE COURSE, 2" THICK					7203.00		\$ 180.00	\$ 17,280.00	\$ 125.00	\$ 12,000.00	\$ 130.00	\$ 12,480.00	\$ 300.00	\$ 28,800.00	\$ 240.00	\$ 23,040.00
23	401096M	HOT MIX ASPHALT 19 M 64 BASE	TON	95	18	113	\$ 225.00	\$25,425.00	\$ 170.00	S 19,210.00	s 105.00	\$ 11.865.00	\$ 130.00	\$ 14,690.00	\$ 300.00	\$ 33,900.00	\$ 240.00	\$ 27,120,00
24	601 124P	COURSE, 8" THICK 15" REINFORCED		125	-		\$ 140.00	\$ 19.040.00				, , , , , , , , , , , , , , , , , , , ,						
		CONCRETE PIPE			-	-		,	\$ 100.00	\$ 13,600.00	\$ 80.00	\$ 10,880.00	\$ 85.00	\$ 11,560.00	\$ 65.00	\$ 8,840.00	\$ 250.00	\$ 34,000.00
25	602012M	INLET, TYPE B		:		:	\$ 4,500.00	\$ 18,000.00	\$ 4,750.00	\$ 19,000.00	\$ 5,000.00	\$ 20,000.00	\$ 4,700.00	\$ 18,800.00	\$ 10,000.00	\$ 40,000.00	\$ 8,200.00	\$ 32,800.00
26	603036P	RIPRAP STONE CHANNEL					\$120.00	\$ 10,800.00										
		PROTECTION, 18" THICK (D50+6")			:	- :			\$ 175.00	\$ 15,750.00	\$ 120.00	\$ 10,800.00	\$ 100.00	\$ 9,000.00	\$ 100.00	\$ 9,000.00	\$ 200.00	\$ 18,000.00
27	606012P	CONCRETE SIDEWALK, 4" THICK		250	:	:	\$ 75.00	\$ 20,625.00	\$ 58.00	\$ 15,950.00	\$ 100.00	\$ 27,500.00	\$ 140.00	\$ 38,500.00	\$ 65.00	\$ 17.875.00	\$ 150.00	\$ 41,250.00
28	606045P	CONCRETE DRIVEWAY, 4" THICK			ı		\$ 75.00	\$ 3,000.00	\$ 78.00	\$ 3,120.00	\$ 140.00	\$ 5,600,00	\$ 180.00	\$ 7,200.00	\$ 65.00	\$ 2,600,00	\$ 150.00	\$ 6,000.00
29	606084P	DETECTABLE WARNING SURFACE			-		\$ 650.00	\$ 3.900.00						, , , , , , , , , , , ,		,		
30	607021P	9" X 18" CONCRETE		558				, .,	\$ 150.00	\$ 900.00	\$ 100.00	\$ 600.00	\$ 250.00	\$ 1,500.00	\$ 100.00	\$ 600.00	\$ 660.00	\$ 3,960.00
		VERTICAL CURB		338	:	- :	\$ 45.00	\$ 27,450.00	\$ 38.00	\$ 23,180.00	\$ 35.00	\$ 21,350.00	\$ 70.00	\$ 42,700.00	\$ 40.00	\$ 24,400.00	\$ 50.00	\$ 30,500.00
31	608003P	NONVEGETATIVE SURFACE, HOT MIX ASPHALT			:	:	\$ 65.00	\$ 1,300.00	\$ 75.00	\$ 1,500.00	\$ 80.00	S 1.600.00	\$ 50.00	\$ 1,000.00	s 100.00	\$ 2,000.00	\$ 55.00	\$ 1.100.00
32	610003M	TRAFFIC STRIPES, 4"		940	-		\$ 2.00	\$ 1,980.00	\$ 1.00	\$ 990.00	\$ 1.30	\$ 1,287.00	\$ 2.00	\$ 1,980.00	\$ 2.00	\$ 1,980.00	\$ 1.50	\$ 1,485.00
33 34	610014M 611300M	TRAFFIC MARKING LINES, 8"		560	_ :		\$ 5.00	\$ 3,050.00	\$ 5.00	\$ 3,050.00	\$ 2.70	\$ 1,647.00	\$ 3.00	\$ 1,830.00	\$ 2.00	\$ 1,220.00	\$ 2.50	\$ 1,525.00
34	611500M	CRASH CUSHION, COMPRESSIVE BARRIER TYPE 2, WIDTH NARROW		:			\$26,000.00	\$ 52,000.00										
35	612003P	REGULATORY AND		-:-			\$ 75.00		\$ 20,000.00	\$ 40,000.00	\$ 25,000.00	\$ 50,000.00	\$ 31,000.00	\$ 62,000.00	\$ 40,000.00	\$ 80,000.00	\$ 23,000.00	\$ 46,000.00
		WARNING SIGN				- 1		\$ 600.00	\$ 100.00	\$ 800.00	\$ 50.00	\$ 400.00	\$ 55.00	\$ 440.00	\$ 255.00	\$ 2,040.00	\$ 200.00	\$ 1,600.00
36	651002P 804009P	WATER MAIN RELOCATION		1			\$ 85,000.00	\$ 85,000.00	\$ 70,000.00	\$ 70,000.00	\$ 90,000.00	\$ 90,000.00	\$ 75,000.00	\$ 75,000.00	\$ 110,000.00	\$ 110,000.00		\$ 400,000.00
37	804009P 806019P	TOPSOILING, 5" THICK FERTILIZING AND SEEDING,		292 292	- ;	- 1	\$ 12.00 \$ 2.00	\$ 4,200.00 \$ 700.00	\$ 5.00	\$ 1,750.00	\$ 16.00	\$ 5,600.00	\$ 20.00	\$ 7,000.00	\$ 10.00	\$ 3,500.00	\$ 9.00	\$ 3,150.00
		TYPE M							\$ 3.00	\$ 1,050.00	\$ 4.00	\$ 1,400.00	\$ 1.00	\$ 350.00	\$ 1.00	\$ 350.00	\$ 2.00	
39 40	809003M 903006M	STRAW MULCHING MISCELLANEOUS CONCRETE		292	- :	- 1	\$ 1.00	\$ 350.00 \$ 4.500.00	\$ 3.00	\$ 1,050.00	\$ 1.70	\$ 595.00	\$ 1.00	\$ 350.00	\$ 1.00	\$ 350.00	\$ 1.00	\$ 350.00
		(CLASS 'B')			i		\$ 450.00	. ,	\$ 275.00	\$ 2,750.00	\$ 200.00	\$ 2,000.00	\$ 150.00	\$ 1,500.00	\$ 85.00	\$ 850.00	\$ 1,500.00	\$ 15,000.00
41	162005P 201006P	VIBRATION MONITORING CLEARING SITE, BRIDGE		1	-	-	\$ 15,000.00	\$ 15,000.00	\$ 10,000.00	\$ 10,000.00	\$ 25,000.00	\$ 25,000.00	\$ 30,000.00	\$ 30,000.00	\$ 10,000.00	\$ 10,000.00	\$ 49,000.00	\$ 49,000.00
43	2030099	(441.4)				-	\$ 35,000.00	\$ 35,000.00	\$ 124,782.00	\$ 124,782.00	\$ 90,000.00	\$ 90,000.00	\$ 50,000.00	\$ 50,000.00	\$350,000.00	\$ 350,000.00	\$ 130,000.00	\$ 130,000.00
43	203009P NS 302060P	1-9 SOIL AGGREGATE COARSE AGGREGATE, SIZE		146	2	- 1	\$ 55.00 \$ 55.00	\$ 9,405.00	\$ 60.00	\$ 10,260.00	\$ 150.00	\$ 25,650.00	\$ 125.00	\$ 21,375.00	\$ 75.00	\$ 12,825.00	\$ 120.00	\$ 20,520.00
		NO. 57				-			\$ 55.00	\$ 935.00	\$ 250.00	\$ 4,250.00	\$ 45.00	\$ 765.00	\$ 150.00	\$ 2,550.00	\$ 130.00	\$ 2,210.00
45 46	501009P 504009P	TEMPORARY COFFERDAM REINFORCEMENT STEEL,		9,000		9,900	\$ 45,000.00	\$ 45,000.00	\$ 85,000.00	\$ 85,000.00	\$ 35,000.00	\$ 35,000.00	\$ 300,000.00	\$ 300,000.00	\$300,000.00	\$ 300,000.00	\$ 70,000.00	\$ 70,000.00
		GALVANIZED		-,		2	\$ 3.00	\$ 29,700.00	\$ 3.00	\$ 29,700.00	\$ 3.50	\$ 34,650.00	\$ 2.75	\$ 27,225.00	\$1.10	\$ 10,890.00	\$ 3.50	\$ 34,650.00
47 48	504015P 504018P	CONCRETE FOOTING CONCRETE WING WALL		-i-	8 2		\$ 750.00 \$ 850.00	\$ 61,500.00 \$ 17,000.00	\$ 600.00 \$ 1,850.00	\$ 49,200.00 \$ 37,000.00	\$ 700.00 \$ 2,800.00	\$ 57,400.00 \$ 56,000.00	\$ 10.00 \$ 10.00	\$ 820.00 \$ 200.00	\$ 500.00 \$ 500.00	\$ 41,000.00 \$ 10,000.00	\$ 900.00 \$ 2,400.00	\$ 73,800.00 \$ 48,000.00
48	505057P	PRECAST CONCRETE		- 1	4	- 1	\$ 6,500.00	\$ 312,000.00										
50	507030P	CULVERT CONCRETE BRIDGE			1				\$ 12,800.00	\$ 614,400.00	\$ 10,000.00	\$ 480,000.00	\$ 17,500.00	\$ 840,000.00	\$15,000.00	\$ 720,000.00	\$ 13,750.00	\$ 660,000.00
		SIDEWALK				i	\$ 850.00	\$ 5,100.00	\$ 2,000.00	\$ 12,000.00	\$ 700.00	\$ 4,200.00	\$ 10.00	\$ 60.00	\$ 500.00	\$ 3,000.00	\$ 3,000.00	\$ 18,000.00
51	507036P	CONCRETE BRIDGE PARAPET		:	3	:	\$ 650.00	\$ 20,150.00	\$ 385.00	\$ 11,935.00	\$ 800.00	\$ 24,800.00	\$ 10.00	\$ 310.00	\$ 350.00	\$ 10,850.00	\$ 800.00	\$ 24,800.00
52	507051P	CONCRETE BRIDGE				113	\$ 850.00	\$ 96,050.00	\$ 625.00	\$ 70,625.00	\$ 1.900.00	\$ 214,700,00	\$ 10.00	\$ 1,130.00	\$ 500.00	\$ 56,500.00	\$ 3.000.00	\$ 339,000.00
53	507085P	APPROACH (WITH FIBER) STEEL 4 BAR BRIDGE		- 1	2		\$ 595.00	\$ 11,900.00										
54	514009P	RAILING TEMPORARY STRUCTURE.		# 1		- 1	\$32,000.00		\$ 500.00	\$ 10,000.00	\$ 600.00	\$ 12,000.00	\$ 500.00	\$ 10,000.00	\$ 300.00	\$ 6,000.00	\$ 505.00	\$ 10,100.00
		PEDESTRIAN BRIDGE			-		232,000.00	\$ 32,000.00	\$ 45,000.00	\$ 45,000.00	\$ 40,000.00	\$ 40,000.00	\$ 75,000.00	\$ 75,000.00	\$ 125,000.00	\$ 125,000.00	\$ 140,000.00	\$ 140,000.00
55	551023M	POLYESTER POLYMER CONCRETE OVERLAY		2,490		2,740	\$ 25.00	\$ 68,500.00	\$ 70.00	\$ 191,800.00	\$ 30.00	\$ 82,200.00	\$ 33.00	\$ 90,420.00	\$ 10.00	\$ 27,400.00	\$ 140.00	\$ 383,600.00
56	NS C4204C44	BRONZE PLAQUE		1	-	-:	\$ 6,500.00	\$ 6,500.00	\$ 1,500.00	\$ 1,500.00	\$ 4,000.00		\$ 3,000.00	\$ 3,000.00	\$ 3,500.00	\$ 3,500.00	\$ 3,250.00	\$ 3,250.00
57 58	159003M 159006M	BREAKAWAY BARRICADE		10 20	20		\$ 150.00 \$ 150.00	\$ 1,500.00 \$ 6,000.00	\$ 45.00 \$ 40.00	\$ 450.00 \$ 1,600.00	\$ 0.01 \$ 0.01	\$ 0.10	\$ 100.00 \$ 25.00	\$ 1,000.00 \$ 1,000.00	\$ 25.00 \$ 25.00	\$ 250.00 \$ 1,000.00	\$ 200.00 \$ 50.00	\$ 2,000.00
59	159006M 159012M	CONSTRUCTION SIGNS		285	60	345	\$ 150.00	\$ 8,625.00	\$ 17.00	\$ 5.865.00	\$ 0.01	\$ 3.45	\$ 16.00	\$ 5,520.00	\$ 12.00	\$ 4,140.00	\$ 50.00	\$ 17.250.00
60	159021P	CONSTRUCTION BARRIER		40	20		\$ 50.00	\$ 3,000.00	5 40.00	\$ 2,000.00	\$ 20.00	\$ 1,200,00	\$ 30.00	\$ 1,800,00	\$ 12.00	\$ 720.00	\$ 35.00	\$ 2,100.00
61	159030M	CURB PORTABLE VARIABLE		1	1	- 1	\$ 4500.00	\$ 9,000.00		,	7	* -,		-,		7		
-		MESSAGE SIGN				-	\$ 4,500.00	1 260 102 65	\$ 6,000.00	\$ 12,000.00	\$ 5,000.00	\$ 10,000.00	\$ 5,000.00	\$ 10,000.00	\$ 1,000.00	\$ 2,000.00	\$ 4,000.00	\$ 8,000.00
		BID '	TOTAL				y .	1,209,183.00	ý.	1,794,000.00	,	1,052,413.13	3	2,072,617.00	3	2,749,030.00	a contract of	2,992,430.52

			BID RESULTS									
	AB2023-27 REPLACEMENT OF COUNTY BRIDGE #441.4 CARRYING LOWER FERRY ROAD											
BID OPENING DATE: JUNE 30,2023												
BIDS RECEIVED	6											
NAME OF BIDDER	CMS CONSTRUCTION INC.	COLONNELLI BROTHERS, INC.	EARLE ASPHALT COMPANY	MARBRO, INC.	MIDLANTIC CONSTRUCTION LLC	CRS CONTRACTORS INC.						
ADDRESS	521 NORTH AVENUE	400 SOUTH RIVER STREET	P.O BOX 556	127 PINE STREET P.O. BOX 134	371 N. MAIN STREET	315 ROUTE 34, SUITE 137						
CITY, STATE, ZIP	PLAINFIELD, NJ 07060	HACKENSACK, NJ 07601	FARMINGDALE, NJ 07727	MONTCLAIR, NJ 07042	BARNEGAT NJ, 08005	COLTS NECK, NJ 07722						
CONTACT	CARLOS DASILVA	NINO G. COLONNELLI	BRIAN M. COOPER	FRANK MARUCCI JR.	MICHAEL MURRAY	JOSE SALGADO						
FELEPHONE	908-668-4368	201-440-118	732 -308- 1113	973 -744 -8383	732-223-9393	732-837-0100						
FAX	908-718-4005	201-440-8282	732- 308- 1034	973- 746 -5898	732-223-2460	732-683-7045						
E-MAIL	MPEREIRACMSCONSTRUCTION@GMAIL.COM	NGC@COLONNELLI.COM	BCOOPER@EARLECO.COM	MAR9400@COMCAST.NET	MMURRAY@MIDLANTICCONSTLLC.COM	JSALGADO@CRSCONTRACTORSINC.COM						
nj savi designation	MINORITY AND SMALL BUSINESS OWNED ENTERPRISE	N/A	N/A	SMALL BUSINESS ENTERPRISE	SMALL BUSINESS ENTERPRISE	SMALL BUSINESS ENTERPRISE						
ADDENDUM NO.ONE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED						
STRUCTURAL STEEL SUBCONTRACTOR	IN-HOUSE	IN-HOUSE	IN-HOUSE	IN-HOUSE	IN-HOUSE	IN-HOUSE						
BID BOND	MERCHANTS BONDING COMPANY (COMPANY) 10% NTE 20K	UNITED STATES FIRE INSURANCE CO.10% NTE 20K	FEDERAL INSURANCE CO. 1-% NTE 20K	FIDELITY & DEPOSIT CO OF MARYLAND, 10% NTE 20K	LIBERTY MUTUAL 10% NTE 20K	SELECTIVE INSURANCE CO. OF AMERICA 10% NTE 20K						
CONSENT OF SURETY	DAWN M . JONES AIF WITH POA	LISA NOSAL AIF WITH POA	JENNIFER GAIL GODERE AIF WITH POA	ROCIO VILA AIF WITH POA	DAWN M. JONES AIF WITH POA	DAWN M. JONES AIF WITH POA						
INDEMNIFICATION AND INSURANCE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
RAN/RUSSIA CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
PREVAILING WAGE CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
EXHIBIT B	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED						
AA201 REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED						
PW CONTRACTOR REG.	669103 EXPIRES 2.24.25	606273 EXPIRES 7.18.23	18315 EXPIRES 5.5.25	607153 EXPIRES 6.13.24	67639 EXPIRES 12.15.24	718716 EXPIRES 3.9.2024						
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK	OK	OK						
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
EQUIPMENT CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
THREE REFERENCES	INCLUDED, ENGINEER TO REVIEW	INCLUDED, ENGINEER TO REVIEW	INCLUDED, ENGINEER TO REVIEW	INCLUDED, ENGINEER TO REVIEW	INCLUDED, ENGINEER TO REVIEW	INCLUDED, ENGINEER TO REVIEW						
FEDERAL DEBARMENT FORM	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES	YES	YES						
TOTAL BID AMOUNT	\$ 1,269,183.00	\$ 1,794,000.00	\$ 1,832,413.13	\$ 2,072,117.00	\$ 2,749,030.00	\$ 2,992,430.5						
EXCEPTIONS	NONE	NONE	NONE	NONE	NONE	NONE						